WP ThRIIX

HH=8F BN

130 FMBAEBSE AR =7Qm , L, =03mHkm , G,=05x10"Skm ,
C, =020Fkm o RiHE T IESZEH S00HZ I BL e A8 B BT Z, (R TRH By « MK
v, B 2

13.2 LA e 4 4 A 2 BB R R TRAT I
2 = 14169 cos(50007 — 0.046x + 1 /.6) (BAhL: V, km, s)
i = 0.141e7°% cos(50007 —0.046x +m/ 3) (BAAL: A, km, s)
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MAKET AN A MEEFT A4

133 FHERBFRITh 2, =70Q , Zmfdfibiz, = 35+ j35)Q . RN KA
@1/4; B)A/S.

134 KIEH A/ 4 MTCHES, LORBFIAR, = 500, DEEAEMANEGLZ, = 200Q , [AHEAEL
BERELAZ/D? XATR, =0, 710 N e 2
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AN ThRBIK

136 ZSRIERRATIAR, JUBERIZ, = 505Q , £RiK35m, BekA=S0m, SKHTHFEI R E.

138 SEVRAHRRIN 17m, BEEHIZ, =150Q , u, MIFSRHURIE, FEies HHTHERKA = 8m ,
AT X | = 150Q « WARAEAER Lo B SR B,
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13.9 THEMEMLLRAC 1 =37.5m , BWHIHL 2, =600Q 5 Wikv=3x10"m/s, IE3%
MR U =10V, $E f=6x10°Hz, W R, =4R, =400Q . (1)K & ¥ HIE U, FIE T
I, (2)BETSEA3H 12.5m &b i e FE R AR &

13.10 B/R B Ry =100Q,  ug=150c0s(5000m)V , R, =100Q . JCI Ltk
I=10km, L,=10"Hkm, Cy=107Fkm. Ku ) Flu,().




MR REIK

13.11 BRERERE, KER=50m, HHHEHN Z, =100/3Q, SHR—mITH,
—WRAEER, SBkP AN — SRS u () =3V2 cos(wr +30°)V , TR 1=300m, K
SR EEA R @) .

4
{

1/2 ¥

13.12 BRBE D TRIERME L L~ L KN 0.75m , S HEBEST Z, = 1000,
ug =10cos2n x10%7) V, FAEE v=3x10"m/s, L3 -3BERE 7, =10Q, XiH4-4'5

B, KEFRABER,@)

~ 1™\t
s/ =
y%
N
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AR T4 AASIF TR 4
13.13 BN g% 4898 1 5 A 2k ik BT Z) =300, 2, =200Q, KL/ =1/4,
L=218 o 1=1' 3 33200 JE ¥ Ug =600£0°V , 22" ¥ 3 4 4E th & $ R=300Q ,
Xﬁﬂmg,%ﬁ33%ﬁu;k(UMFI“{AUA%HHZ Q)iEEmETL L (3)
2-2" Wik U, .
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13,15 K K= 600m (AL, WHlPL 2. -smn,ér%&lummm D e LR
KL ug = 15 €(O)V o ﬁtm*h LR 0 < < 6/ /v WM MM UGE T, RENBESEEZ
A (GE v e 4T



TRk ek ThkEIE

13.16 BRI A 1 =6km » BHLHTZ =600Q . I E GG . X%
Ro=Z.» R,=1800Q, Ug=240V, r=0INIFRESM. Wu5E LARL b b i it i) 12
0 <1< 60ps HAIE] A I 2R A RN o
if)

13.17 W UETR, ICHAECAE AT tms U] P9 % WA 90 i 35, 9 BLLSE
Z,=R, =200Q . X251 R=300Q, L=0.1H, ug=10&()-10¢(r-0.001s) V. 3K ~0 IFF(j2
IRASA R (r)
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MAECKBI T ANt HMEEFT A4
13.18 HERUERTR, EHIY MK 1=300m, WK Z, =200Q, R, =50Q, BHH

v=3x10°m/s « XEK R=300Q, C=0.1F, us=10&() V. 3K 0 <t < 3us Bf I35 B E u() »
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